/DVIRB
3UDFRZQLN 5RINiDG SURI 3XQGD 20HNVDQGU 7\J

7N
36z Z SIRI 3XQGD 2MHNDQGU =% 2)+ 35% -
o4 = \NiDG ] SURIHVRIHP ]DJUDQLFIQ\P
7]
36z Z SIRI 3XQGD 2MHWDQGU =% 2)+$70/
7N 7N 7N

= 36: Z SIRI 3XQGD 36: Z SIRI 3XQGD 36 Z SURI 3XQGD 2MHNVDQGU =%
I 2IHNVDQG! =% 2IHNVDQG! =% H 2)+35% " =
4 -20387(52:8 )+ +358 7 = = \NiDG ] SURIHVRIHP JDJUDQIFIQ\P
N 35% : = \NiDG ] SURIHVRUHP

= \NiDG ] SURIHVRUHP 1DIUDQIFIQ\P

1DJIDQFIQ\P ‘
- 7N
) 36z Z SIRI 3XQGD 2MHNDQGU =%

.20387(52:% z)+$"0/ =
= 7\G]
< 36 Z SURI 3XQGD 2MHNVDQGU =% 2)+$"0/
= 7\G]
o 36 Z SURI 3XQGD 2MHNVDQGU =% 2)+s$"0/
o
©
—




